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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Lhen mark your choice on your answer sheet.

e — s

— s

Governments usually -----———- - freedom of movement into and out of the country in time of
war.
1) detect 2) induce 3) restrict 4) simulate

You can only come on the school trip if your parents give their written ------—-- -

1) device

The government -------

the town.

2) consent 3) criterion 4) inclination
--- that the buildings would not be redeveloped in the historical parts of

1) tackled 2) confronted 3) committed 4) undertook
She intends to -------—-- a medical career, but her father would like her to study law,
1) engage 2) resolve 3) aspire 4) pursuc

Students can be expelled at the ——---eaee-

of the head teacher, and they cannot return to school

within a year after expulsion.

1) foresight 2) judgement 3) alternative 4) discretion
The war would have ended if the enemy planes had not ---—---—---- the cease-fire agreement.
1) violated 2) enforced 3) exceeded 4) attributed
Maths is a(n) -~--==nnn- part of the school curriculum almost anywhere in the world.

1) eventual 2) intrinsic 3) concurrent 4) simultaneous
He said that if the apnual floods got ---------- worse they would have to leave the area.
1) any ' 2) more 3) very 4) enough

They asked the students not -——----—-in the building once they had finished the test.

1) stay 2) stayed ( 3) to stay 4) staying

He had two of his teeth -=-------- at the dentist's round the corner.

1) extract 2) extracted 3) extracting 4) were extracted

Part B: Cloze Test

‘ Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Two sailors were missing at sea after two Greek-flagged ships (11) -==-=-=--- off the western coast of
Turkey and one of them sank. Ten sailors (12) ---------- board the sailing ship were rescued. The Pel
Mariner sank after it hit the Pel Ranger (13) ---------- seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) ---------- heavy fog could have played a part in the
accident (15) -------=-- the Dardanelles Strait.

1) collided 2) colliding 3) that collided 4) were collided

1) in 2) on 3) over 4) above

1) all 2) with 3) some 4) every _

1) say 2) said 3) saying 4) were saying

1) near 2) was near 3) to be near 4) it was near
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Directions: Read the following three passages and answer the questions by choosing the best
‘L‘hﬂfﬂi" (1), (2), (3), or (4). Thern mark the correct cheice on your answer sheet.

e

Systematic weather records were kept alter instruments for measuring atmospheric
conditions beeame available during the 17th century. Undoubtedly these carly records
were employed mainly by (hose engaged in agriculture. Planting and harvesting
obviously can be planned better and carried out more efficiently 1if long-term weather
patterns can be ectimated. In the Uniled States, national weather services were first
provided by the Army Signal Corps beginning in 1870. These operations were taken over
by the Department of Agriculture in 1891 By the early 1900s free mail service and
telephone were providing forecasts daily to millions of American farmers. The U.S.
Weather Bureau established a Fruit-Frost (forecasting) Service during World War 1, and
by the 1920s radio broadeasts 10 agricultural interests were being made in most stalcs.

Weather forecasting became an important (ool for aviation during the 1920s and 30s. Its
application 1n (his arca gained in importance after Francis W. Reichelderter was
appointed chiel of e U.S. Weather Burcau in 1939 Reichelderfer had previously
modernized the navy's meteorological service and made it a model of support for naval
aviation. During World War [T the discovery of very stong wind currents at high
altitudes (the jet strcams. which can affect aircraft speed) and the general susceptibility of
military operations in Europe 10 weather led to a special interest 1n weather forecasting.

{6- Which of the following is TRUE according to the passage’
1) Weather records were initially used mainly for military purposes.
7) Weather records were not kept before 17" century instruments became available.
3) Therc was apparently no instrument W measure atmospheric conditions before the 17" century.
4} Those engaged in agriculture were able to estimate long-terim weather patterns.
{7-  Which of the following about developments in the American weather services is TRUE?
1) They were provided on the phone as a Fruit-Frost service.
2) They were first established for Agricultural uses in 1891.
3) They were originally founded on a national basis by the US military.
4) They were used for the first time as radio broadcasts in 1920.
18- The passage implies, about Reichelderfer, that --—---—-—" y
1) he was the chief of the U.S. Weather Bureau during World War 11
2) he was an officer in the navy before joing the U S. Weather Bureau
3) he did a lot to modernize meteorological services in the 1920s and *30s
4) he was employed by the military at some stage of his career
19- The passage is probably part of a longer text on ------==== -
1) the practical applications of weather forecasting
2) the foundation of weather forecasting centers
3) weather forecasting and its uses in the navy
4) the important role key figures played in weather forecasting
20- The word ‘susceptibility” in the second paragraph is most closely related to ------——-=~ -
1) ‘probability’ 2) ‘sensitivity’ 3) “stability’ 4) “practicality’

i
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A major breakthrough in meteorological measurement came with the launching of the
first meteorological satellite, the TIROS (Television and Infrared Observation Satellite),
by the United States on April 1, 1960, The impact of global quantitative views of
temperature, cloud. and moisture distributions, as well as of surface properties (e.g., ice
cover and soil moisture), has already been substantial, Furthermore, new ideas and new

methods may very well make the 21st century the “age of the satellite™ in weather
prediction.

Medium-range forecasts that provide information five to seven days in advance were
impossible before satellites began making global observations——particularly over the
ocean waters of the Southern Hemisphere—routinely available in real time. Global
forecasting models developed at the U.S. National Center for Atmospheric Research
(NCAR), the European Centre for Medium Range Weather Forecasts (ECMWF), and the

UJ.S. National Meteorological Center (NMC) became the standard during the 1980s,
making medium-range forecasting a reality.

Meteorological satellites travel in various orbits and carry a wide variety of sensors. They
are of two principal types: the low-{lying polar orbiter, and the geostationary orbiter.

The first type circle the Earth at altitudes of 500-1,000 kilometres and in roughly north-
south orbits. They appear overhead at any one locality twice a day and provide very high-
resolution data because they fly close to the Earth. Such satellites are vitally necessary for
much of Eyrope and other high-latitude locations because they orbit near the poles. These
satellites do. however, suffer from one major limitation: they can provide a sampling of
atmospheric conditions only twice daily.

1
Which of the following is TRUI) according to the passage?
1) We can detect the origins of “the age of the satellite” in weather prediction to April 1, 1960,
2) Weather prediction in the twentieth century was heavily based on satellite technology.

3) Global views ol temperature, cloud and moisture distribution are substantial due to the launching of the
TIROS.

4) The TIROS can be considered as the biggest technological achievement in meteorological measurement.
[t is stated in the passage that -----eunemv,

1) medium range forecasting became the standard and a reality in the U.S. National Meteorological Center
(NMC)

2) satellites are primarily used today to forecast the weather conditions of the southern Hemisphere

3) five- lo seven-day medium range forecasts were not quite accurate before the age of the satellite

4) the major breakthroughs in global forecasting were chielly made in the 1980s at NCAR, ECMWF and
NMC

A ‘geostationary orbiter’ in line 16 is probably a satellite which -----------

1) stays in one position in the orbit 2) collects geological lnfnnnalmn from its station
3) orbits the earth in several stations 4) moves around the earth in a particular orbit
The expression ‘real time’ in line 10 is ~--—----- —-.

1) the time which specially applies to the Southern Hemisphere

2) the actual time in which a physical process takes place

3) one of the major time scales used for the observations made in advance

4) not usually available without the use of precise satellite technology

Which of the following about the low-flying polar orbiter is TRUE according to the passage?
1) They are normally used only for Europe and other high latitude locations.

2) They provide important data about the poles.

3) They have the advantage of producing twice-daily samplings.

4) They fly quite near earth and circle it in north-south orbits.
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[outine production of synoptic weather maps became possible alter networks of stations
were organized 10 take measurements and report them 1o some type of central
observatory. As early as 1814, U.S. Army Medical Corps personnel were ordered 10
record weather data at their posts; this activity was subsequently expanded and made
more systematic. Actual weather-station networks were established in the United States
by New York University, the Franklin Institute, and the Smithsonian Institution during
the early decades of the 19th century.

it was not long be fore national meteorological services were established on the Continent
and in the United Kingdom. The first national weather service in the United States
commenced operations i“.i_'i 1871, with responsibility assigned to the U.S. Army Signal
Corps. The original purpbse of the service was 10 provide storm warnings for the Atlantic
and Guil coasts and for the Greal [ akes. Within the next few decades, national
qwlemmlngical services were established in such countries as Japan, india. and Brazil.
The importance of international cooperation 1n weather pmgnnslicatim was recognized
by the directors of such national cervices. By 1880 they had formed the International

Meteorological Organization (IMO) for this.end.

The proliferation of weather-station networks  linked by telegraphy made synoptic
foredasting a reality by the close of the 19th century. Yet. the daily weather forecasts
generated left much to be desired. Many €1ro1s occurred as predictions Were largely based
on the experience that each individual forecaster had accumulated over several years ol
practice. vaguely tormulated rules of thumb (e.g., of how pressure Systems move from
one region 10 another), and associations that Were poorly understood, 1 at all.

26- Itis stated in the passage that =---—-=-"""" .
1) the IMO was formed in 1880 by the directors of such national services as Japan, India and Brazil.

2) weather-station networks in the U.5. Were formed much earlier than the first national weather service.
1) pational meteorological gervices Were established in the United Kingdom long before the United States.
4) storm warnings for the Atlantic were provided by the U.S. Army Signal Corps, which started work ir

1871.

27- Itis suggested in {he last paragraph that ----——"" :
1) synoptic forecasting was @ reality before the beginning of the 20™ century

2) weather station networks and telegraphy speeded up ihe development of synoptic forecasting
3) weather forecasting was otill not based on propet iechnical grounds in the 19" century
4) weather prediction errors i1 the 19™ century were formulated on rules of thumb

28-  Which of the following i« TRUE according to the passage”?
1) W eather-station networks did not actually exist before the 19™ century.
2) Synoplic weather maps were routinely produced as carly as 1814
3) The U.S. Army Medical Corps knew much aboul recording weather data.

4) Central observatories Wete responsible in the 19" century for the production of weather maps.

29- The passage .« mainly about the -——====""" :
) importance of synoptic maps in weather forecasts
2) establishment of weather-station networks and gervices
3) role of the US and UK in the improvement of meteorological services
4) inadequacy of individual experience 10 deal with synoptic forecasts
30- The word ‘prugnnﬁlicntitm’ in line 14 is closely related to the word ----===="""
1) < Jevelopment’ 2) ‘warning 3) ‘predicaﬁnn’ 4) ‘initative’
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